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   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

SET – 3 

       -    12   

 -            -  -    

       -  36    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 36 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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  : 

 (i)  -   , -  -,             
  

 (ii)      
 (iii)  -          
 (iv)  -  -      -       

(v) -    1  3   -               
(vi) -    4  6   -        30      

 (vii) -    7  18   -        50      
 (viii) -    19  24   -        70     

  
 (ix) -    25  33            

                     
 (x)  -    34  36       -      

       

 

General Instructions :   

 (i) The question paper comprises two Sections, A and B. You are to attempt both the 

sections.  

 (ii) All questions are compulsory. 

 (iii) There is no choice in any of the questions. 

 (iv) All questions of Section A and all questions of Section B are to be attempted 
separately. 

 (v) Question numbers 1 to 3 in Section A are one-mark questions. These are to be 
answered in one word or in one sentence. 

 (vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be 
answered in about 30 words each. 

 (vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be 
answered in about 50 words each. 

 (viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be 
answered in about 70 words each. 

 (ix) Question numbers 25 to 33 in Section B are multiple choice questions based on 
practical skills. Each question is a one-mark question. You are to select one most 
appropriate response out of the four provided to you. 

 (x) Question numbers 34 to 36 in Section B are two-marks questions based on 
practical skills. These are to be answered in brief. 
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 –   
Section – A 

 

1.                 1 

State the essential function performed by ozone at the higher levels of the 
atmosphere.   

 

2.  (i) CH4  (ii) CH3COOH     1 

Write the name of (i) CH4 and (ii) CH3COOH.  

 

3.          1 

Define the term principal axis of a spherical mirror.  

 

4.         2 

State two laws of refraction of light.   

 

5.      17              
 ?      2 

The atomic number of an element is 17. To which group and period does this element 
belong ? Determine its valency.   

 

6.         ?          
     2 

Why are bacteria and fungi called decomposers ? List any two advantages of 
decomposers to the environment.   

 

7.    ?               3 

What is reproduction ? Explain two advantages of sexual reproduction over asexual 
reproduction.   

 

8.                    
        ,     ? 3 

State briefly the changes that take place in a fertilized egg till birth of the child in   
the human female reproductive system. What happens to the egg when it is not 
fertilized ?    
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9.                  3 

List and explain briefly any three methods of contraception.  

 

10.     ?                
     3 

What are Chromosomes ? Explain how in sexually reproducing organisms the 
number of chromosomes in the progeny is maintained.  

 

11.    -              
                 
     3 

Distinguish between inherited traits and acquired traits giving one example of each. 
Give reason why the traits acquired by an individual during the life time are not 
inherited.  

 

12.        ‘’              
20 cm           40 cm    ,   
      3 

Define the term magnification as referred to spherical mirrors. If a concave mirror 
forms a real image 40 cm from the mirror, when the object is placed at a distance of 
20 cm from its pole, find the focal length of the mirror.   

 

13.   14 cm               21 cm   
           3 

An object is placed perpendicular to the principal axis of a convex lens of focal 
length 14 cm. The distance of the object from the lens is 21 cm. Find the position and 
nature of the image formed.   

 

14.       /        ?    3 

Why does the sun appear white at noon and reddish at the sunrise / sunset ? Explain. 
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15.            ,        ,  
-    -               
                    
      -        

 (i)                   ? 

 (ii)      – 0.5 D          ,   
        

 (iii)           3 

Varun instead of copying from the black board use to copy regularly from the note 
book of his friend, Sudhir with whom he sat on the same desk. Sudhir told the teacher 
about it. The teacher asked Varun to get his eyes checked by a doctor and explained 
to whole class the reason why Varun copied from Sudhir’s notebook.  

 (i) What in your view, is wrong with Varun’s eyes and how can it be corrected ?  

 (ii) If the doctor prescribes Varun to use lenses of power – 0.5 D, write the type of 
these lenses.  

 (iii) Write the values displayed by Sudhir and his teacher.  

 

16.   ‘M’    12   
 (i)            
 (ii)       ?          
 (iii)  ‘M’        (/)   3 

An element has atomic number 12. 

 (i) Write its electronic configuration and determine its valency. 

 (ii) Is M a metal or a non-metal ? Give reason in support of your answer.  

 (iii) Write the molecular formula and nature (acidic/basic) of the oxide of M.  

 

17.       
 (i)       ,  
 (ii)        
           ?         3 

How does the atomic radius of the elements change on going  
 (i) from left to right in a period, and  
 (ii) down a group 
 in the Modern Periodic Table ? Give reason in support of your answer.  
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18.          ?         
HCOOH           3 

What is a homologous series of carbon compounds ? List its any two characteristics. 
Write the name and formula of next higher homologous of HCOOH.  

 

19.  (a)              
   

  (i)   
  (ii)   
  (iii)   
 (b)    ?         H2SO4   443 K    

  ?     H2SO4     5 

(a) Write a chemical equation of each of the following types of chemical reactions 
of organic compounds.  

  (i) Oxidation reaction 
  (ii) Addition reaction 
  (iii) Substitution reaction 
 (b) What is ethanol ? What happens when it is heated with excess Conc. H2SO4 at 

443 K ? Write the role of Conc. H2SO4 in this reaction.    

 

20.  (a)      ?     ? 

 (b)     ?        5 

(a) What is sustainable development ? Why is it necessary ?  
 (b) What is water harvesting ? List its four benefits.  
 

21.  (a)               ,   
        ,       

  (i)   (O)    (F)   

  (ii) F  2F   

 (b)               ,   
, (i)  (ii)           ? 5 

(a) Draw labelled ray diagrams for each of the following cases to show the 
position, nature and size of the image formed by a convex lens when the object 
is placed 

  (i) between its optical centre (O) and principal focus (F) 
  (ii) between F and 2F 
 (b) How will the nature and size of the image formed in the above two cases,        

(i) and (ii) change, if the convex lens is replaced by a concave lens of same 
focal length ?  
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22.               -s      

                  

                   5 

A person is unable to see distinctly the words printed on a newspaper. Name the 

defect of vision he is suffering from. Draw ray diagram to illustrate this defect. List 

its two possible causes. Draw a ray diagram to show how this defect may be corrected 

using a lens of appropriate focal length.    

 

23.            

 (i)      ,  

 (ii)         ? 5 

How do Mendel’s experiment show that  

 (i) the traits may be dominant or recessive, and  

 (ii) different traits are inherited independently ?  

 

24.  (a)    ?      

 (b)                 

        

  (i) ; 

  (ii)     ; 

  (iii)    5 

(a) What is pollination ? Give its two types.  

 (b) Draw a longitudinal section of female reproductive part of a flower showing 

germination of pollen grain. Label on it the following :  

  (i) Stigma ; 

  (ii) Pollen tube with a male germ cell ; 

  (iii) Female germ cell.  
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 –  
Section – B 

 

25.                 ,     
  -   1 

  

     - 

 (a) II, III, IV, I (b) I, II, IV, III (c) III, IV, II, I (d) I, III, IV, II 
 In the following figure different stages of binary fission in Amoeba are depicted, 

which are not in proper sequence : 

  

 The correct sequence is :  

 (a) II, III, IV, I (b) I, II, IV, III (c) III, IV, II, I (d) I, III, IV, II    

 

26.             ? 1 

  

      (A)                          (B)                    (C)                      (D) 

 (a) A (b) B (c) C (d) D 
 In which of the following figures is budding Not shown ?  

  

      (A)                            (B)                    (C)                      (D) 

 (a) A (b) B (c) C (d) D   
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27.                ,    
,     ? 1 

 (a) ,     (b)    

 (c) ,     (d)    

 If you are asked to select from the following a group of vegetables of homologous 
structure, which one would you select ?   

 (a) Carrot, sweet potato and potato (b) Carrot and radish 

 (c) Carrot, potato and tomato (d) Brinjal and radish  

   

28.                    
      ? 

 (a)             

 (b)              

 (c)             

 (d)              1 

Some students studied the physical properties of acetic acid and noted down their 
observations. Which of the following observations is correct ?  

 (a) Smells like rose and soluble in water. 

 (b) Smells like burning plastic and insoluble in water. 

 (c) Smells like vinegar and soluble in water. 
 (d) Smells like rotten egg and soluble in water.   
 

29.                     
   ? 1 

 (a)     NaCl  (b)      Na2CO3 

 (c)     NaOH  (d)    NaOH 

 A student wants to prepare soap in the laboratory. Which of the following sets of 
materials he should use ?  

 (a) Neem oil and NaCl  (b) Neem oil and Na2CO3 

 (c) Mustard oil and NaOH  (d) Mineral oil and NaOH   
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30.                   

    1 

 

 (a) A (b) B (c) C (d) D   

Select from the following the best experimental set-up for tracing the path of a ray of 
light passing through a glass slab.  

 

 (a) A (b) B (c) C (d) D   

 

31.                    
     1 

 

 (a) A (b) B (c) C (d) D 

Select the diagram in which the path of a ray passing through a glass prism is 
correctly drawn  

 

 (a) A (b) B (c) C (d) D   
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32.              

 
 (a) 12.4 cm (b) 6.2 cm (c) 6.0 cm (d) 3.0 cm  1 

The focal length of the concave mirror in the following experimental set up is  

 
 (a) 12.4 cm (b) 6.2 cm (c) 6.0 cm (d) 3.0 cm 
 

33.                      
                   
     

 
 (a)  1  4 (b)  3  4 (c) 1, 3  4 (d) 1, 3, 4  5 1 

Select from the following diagram the incident rays whose paths after refraction have 
been correctly shown and can be used for locating the position of image formed by a 
convex lens.  

 
 (a) only 1 and 4 (b) only 3 and 4 (c) 1, 3 and 4  (d) 1, 3, 4 and 5   
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34.          ,      ?    

          ?      2 

 What do you observe when you add sodium bicarbonate to acetic acid ? How would 

you identify the gas released in the reaction ? Describe briefly.  

 

35.                     

    2 

 Draw a diagram showing different parts of an embryo of gram seed and label them.  

 

36.      A, B, C  D   A  B            

    C  D                  

        ?  2 

 You have four beakers A, B, C and D. Out of A and B one has hard water and the 

other has soft water. Out of C and D one has soap solution and the other has 

detergent-solution. How would you identify these liquids ? 

____________ 


